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3) -32a+8b () 21x2+35x 3) 24a%+60a o) -40x°+30x

@ Gogmo 3dm(30bs  agm3gEMos

6. Imn(3939m0s BoMm 3mbgon, BmImal 39608980 94L3-05, 03m3z900 oo jmmbgool
3396M©900 5 BoMomdo. x5 X+3
d) 3)

X+2 X-2




6.4 m@bggMol mMBggedg god8Mogmads

mMb 9360l mMmBg3M by god3Mogmads. 6+3

(@ (e

»gombohobmgdabomgals

a0bgoboenmo doMo 3yobgwo,
3ol DODMGHO 3396M©0
394mBamns M babomo. mmami(s @ (5)(6) (5)(3)
303000, 35MM3PNnbgol FoMmmdo =
30dmomgemgds gmMdgmoon 5+2
LogMdgxbogsbgdy, dgmMgbsoMaw
domgmbgool  @omommdo  dobo

boBomgdol  goMmmdms  ®sdab (2)6) @)3)

Gmoo.

a0bz0bommon doMm 3mobgeo,
Mmool g39M©gd0 @oymynemas:
(5+2) o (6+3) bsbomgdow, godm-

m&o  bggealb  godab ™o Bggmal  goddy

30035M0o) oMo 3obgnl
BoBomgdolb  ggsFomdgdo o 353653 gdob bmaswo gm@mInms
3933603mon: (a+b)(c+d)=a(b+c)+b(c+d)=ac+ad+bc+bd

(5+2)-(6+3)=5(6+3)+2(6+3)=
= 5:6+5-3+2:6+2-3
30+15+12+6=63=7"9 = 63

ba8Magmol  godo  BoMmImeggbolb  dgomelb  gmomal  3gomengbmegds.  (FOIL
036193008 1Md a5b0doMBgds 3gdgabstns: First -3ocggmon, Outer - aomg, Innter -
dogs, Last - dmemm, ognmobbdgds bg36igda).

Bobo yGOmYMa smabgfMgds 353 gabsntoc:
(a+b)(c+d) = a(c+d) + b(ctd)=ac+ad + bc+ bd

[-69360 I-bg; I-6g360 II- 69360bg

H—633\4m I-cba; 11-633\4)0 I- 6336%3




dm (39390 Bgbo bdoMaw 3dmnygbgds go8s6B0398980bs @s LEGMsGn asdmmgmabmgab.

5b03d69ymn bgbosb 3o3m3nbstgmdl mMa B9zl Lbgamdol, mGa bg3cab bLbgomdsody
ob Mmoo bg3Mob god3bg aodmogmgdal bgbo:

(atb)(c-d)= (a+b)-(c+(-d))= a(c+(-d)) + b(c+(-d))=ac -ad + bc- bd

(a-b)(c-d)=(a+(-b))-(c+(-d)) =a(c+(-d)) - b(c+(-d)) = ac -ad -bc + bd

@ 603030 1 m@mBg360L m@bg30 g asdFmogmgds

o)  (x+2y)(5x-3y)=x-5x + x-:(-3y) + 2y-5x + 2y-(-3y)=
= 5x2- 3xy + 10xy - 6y2=5x2 + 7xy - 6y?

bgdmo 3myzsboema Bgbowsb godmdnbaty gozom, Gm3 (a+b)(c+d) = ac+ad+bc+bd.

(a+b)(c+d) smagdEmmo godmbobmmagds, ac+ad+be+bd  asdmbobeymadol Gmeons.
3m393mo Gmmmds ggddsmn@os (33memgdol 6gdabdngmMo 860d36g9mmmdabomgab.
506036y Gmemmdal ngoggmds gbmwgds.

[ amboa%aQaaaﬂm 36"{.1@“6" ] ]

1. Bo3moanbgom %530l Lobaon.
o) (x+4)(x+3) a)(@-5)a+7) g)(2at+3)(3a-4)
3) x+5)(x-3) @) @-2@-1) g (3a+b)5a-2b)

2. a5bbgboom gERbomgdo s dgogHomgm Bbasgbo bygmgda:
5)4(2a-3) - 5( a+2) a) 2(a+2b) - ( 4a+4b)

3)-8(@a+1)-(2a-8) ) 5(3a+4b)-2( 7a+10b)

[ bogaMxndmgdo #

3. aobbbgoo R@Rbormgda

s) (n-5)(n+2) 3) (2m+n)(3m-n) 9) (@-7)(a+7)

%) (2m+3)(m-3) ) (n*-1)(n+4) 3) (5a-4)(5a+4)




4. bom3mEagnbgm xodo bodmagmal baboo:
s) 5a-15b a) -ab+6a q) 4a-12b %) 5a-5

3) 8a%-12a ©) 9ab-15a% 3) 27a’+18a o) a’+a

5. RangxNMHo bodndom:

5) dmgdpmo  doMogombgonlb  Logsby

aemob a-b,  LoaMdg oymgyamoas 3
bobomo: b, € s d. dsMogmmgeal
BOMmMdals 30dmygbgdom Begme

©o0dmyds:
a(b+c+d)

3) dmgdynmo  doMmm gnobgwal Logsby
0545300 8 s b m@ babomaw, Logmdg - 3
bobomoa: €, d, €. 5R396900 Gl mMalb:

(a+b)(c+d+e)




6.5 398mygmgdamo gs3Mmagmgdal gm@Bnmgdo

B396 339 3030 MEbg3Mal MmEMBg3Mdy
30dMogmygds.  aobgobomme mMo Gmom

7+3
mEBg360L gBN8sbgmndy godmogmads. m e ' G ’

F396 30300, O™ 3350658 0L BoMOMda,
3300@0b  33oRMd@0b  Gmeros,  sbgzg
3350658 0L BoMmmda 4 oo gnmbgoal
gommmdolb  xodob  Gmom  0gbgde.
boboDnsb  30dm3Eabaty  ©agbgmmo

(7)(7) (7)(3)

CIN

7+3

@)mqwmbo:

@)7) (3)3)

&[]

(7+3)?= 7-7+7-3+3.7+3-3=

=72+2:7-3+3%=
=49+42+9=100= 10°

og)  Mobzgdolb  Bozmo  Rogbgedom

(33m0gdL, dngnmgdo:

1. (a+b)?=(atb)(a+b)=
=aZ+a-b+a-b+b’=
=a?+2-a-b+b?

2. (a-b)2=(a-b)(a-b)=
) 2_ @
=a‘-a-b-a-b+b”= @
=a?- 2-a-b+b?

3. mo (33mo@ol 30l bs3Msgmao bbgomdady:

(a+b)(a-b)=a-a - a-b + b-a - b-b=a2- b?

dg8mgymgdanmo as9@Magmgdol Bm@Igmagdo

1. (a+b)2=a2+2-a-b+b? 2.(a-b)2=a2-2-a-b+b?

3. (a+b)(a-b)=a2- b?




603930 1 bodMmagmol BomBmeagbs godsw, dgdm3mgdameman
309M53mg60l m@EIYmab godmygbgdom

5) (a+5)’=a?+2-a-5+5°=a2+10a+25

3) (5a-3b)?=(5a)%-2-2a-3b+ (3b)2=25a%-12ab+9b*
a) (a-5)(a+5)= a%- 5%= a2-25

©) (2a+7b)(2a-7b)= (2a)’- (7b)?=4a2-49b*

G 6039302  m@MBy360b BomImmagbs 653E5gmal bobao:

5) a2-36= a?- 6°=(a-6)(a+6) a?+b? 6:3Gogrmor o6

3) 9x2-100= (3x)2- 10°=(3x-10)(3x+10) 0dmgds

c b0d9dn 3  LodbgzMob Bom3mmagbs bodmagmal baboom:

o) a’+10a+25= ©53500306mm, 5GLgdMBL ) 56> JobMEBMIngHgds
a2+2:5-a+52 = (a+5)2  LsdBg3mab Bgmgdl dmmols

) B Gozbgo bos Rogbzsm godm@Bmggdym saomosl, Gm3d dogommo LEmGo Gmemmds:
4a%-12a+ ... =(2a-.. .)2 4a2 = (2a)?, ozdommo 3o Bgg6n 353Mogmgdac
(2a)?-2-2a-3 + 3°=(2a-3)

[ ambaa‘ongégwnaﬁad@)nda %

1. Bom3maanbgo %030l baboo. nbofMggdmagm gmEm3gmadoo:
(atb)2=a2+2-a-b+b® ; (a+b)(a-b)=a2-b?
5) (a+4)?  a) (2a+1)® ) (a+3)(a+3) %) (a-10)(a+10)
3) (a-6)° ) (3a-1° g) (a-7)@+7) o) (2a+5)(2a-5)

2. BomImmanbym mMBgzo bs3Magmal bLoboo:

5) X2-4  2)m2-36  3)b%-81 ) 9x*-49




3. BoM3m@og0bgo Ledbgzto badMagmoab Loboom:

o) @’+8a+16  3) a’-4a+4 a) a?+2a+1

[ b°3°6xnam32’° #

4. aobbgboor gHRbamgd0 s BoMmIMoanbgm godob boboo:

(atb)?=a2+2-a-b+b?; (a+b)(a-b)=a%-b?

s) (b+1)?  g) (2a+57° o) (N-3)(n+3) ) (y2+5)(y?-5)
3) (a+3b)®  g) (4+m)> 3) (m+n)(m-n) o) (x+2y)(x-2y)
a) (3257 ©)(@%2)° ) (MB)(m+6)  3) (x-5y)(x+5y)
©) (047 o) (5+b%)  8) (mZ+1)mP-1) ) (By+x)(3yx)

5. 3353b90 258m@M393mm0 sa 0o obg, Gmd 00mme beummo 3350GE0
5) a%+Ba+..=( + )2 g) b2+16b+..=(  + )2
3)a’-10a+..=( - )? 3) 9a2-12a+...=( 3a- )2
a) b?+4ab+..=( + 2b )2 %) b-14b+..=( - 7 )2
©) 25b%+10b+...=( + 1)2  o)36a’-12ab+...=( +b )2

6. Bo63moanbgo xodo 633Magmoal bsboo. (as0@obgom 8s3Gsgmo ggBRbomob gotgm
o6 dgdm3mgdmmo 30dMmogmgdal gm®mImob godmygbgdom)

5) 3a-9b ©) a%-25 Y x2-2xy+y?
3) 12a2+16a q) 9b%-4 0) X2+18x+81
a) 5a2b+15b? 3) 400-m? 0) 4x?-20x+25

7. 39300080l 565mmabo:

5) 8mbBogmgd Bab@ g X2+25 Bo@dmaowanbs 658Gogmol bsboom Jgdwgaboomsc:
X2+25=(x+5) (x+5). o 39(30m85 ©59335 8mbBsgmgd?

3) 8mbBogmgd ogomgdol JgbEHumgdobel X2+4 Bo@Gdmargobs 653Mogmoab bobom

d939abotnac: X2+4=(x+2)(x-2), 6o d9(300m3 9)dgs ImbLBagmgd?




@ Gormo bsgombo

8. BomImomanbgo badmagmal baboom:

5) 25b%-4a2 q) 4x2+20xy+25y?
3) 100a2-81b? 3) 9a2-12ab+4b?
a) 8m2-18n? b) 4x2+20xy+25y2
©) x*-64 o) x*+10x2+25

@ Gogmo bsgombo

9. 3gdmgmgdnmo g53Ms3mgdal gm@mInmgdol gs8mygbgdom asdmosbasmndgom

doMBngo.
5) 512-492 a) 102%-98° g) 205%- 52
3) 972-96° ) 1972-97° 3) 58°%-42°

@ Gormmo bsgombo

10. 393m3mgdmmo a03Mogmgdol gmmM3nmagdol gs8mygbgdom godmosbgsmndgm

doM@nzgo0.
5) 55%+2:55-45+457 ©) 1012+2:101-99+99°
3) 67%+2-67-33+332 0) 5402+2:540-60+607

3)101%-2:101+1 3) 342°-2:342-42+42




&9L@ob 60d«3o:

. dgogcamgo dbasgbo Bgzdgdo
o) 12x + 14y - 5x - 4y
3) 4x2 -5y —10x2 +y

. aobbgbom g@mhbomo ©s
dgogmomngo dbgagbo Bggmgdo:
s). - 4(x+2y) +8y

3). 3 (2x- 5y) +15y

. 03mggo, dm(399mmmo
96mbg3Mgdalb ¢.b.g. (oogbo
Log@om aodymaezn)

5) 8ad 12a?

3) 15ab  20a?

. 33mbbgboom gob@megds:
o) 4(2x-1)=-12
3) 12-5(2-x)=36

. 35535M@G0nggo:
s). 4a?b’: 2b?
3). 15a%b*- 4ab?
a). 5a2b3®- (2b)?

. Bam3dmoanbgo

bodMagmals
Loboon:

5). 24a? + 8ab

3).-15ab - 18 a?

. boMmBmoanbgm  xsdob  Loboo

dgdm 3mgdmmo 309M53mgdals
BmOINgdolb mobobds:

5). (x - 4)23). (2a + 5)2
5). (a-6)(@+6) ). (3b-1)(3b + 1)

BomImoanbgm godo badMagmol
Loboo:

5).a2—-25 d).4a?-49
a).a®+12a + 16

©). 4b? — 20b + 25

35dm0sba56Mndgo oM@ ngowm:
5) 892-112
3) 1352-2-135-35 +352

10. do6o3mobgoolb Logsbg 4 L3-0o, Loamdg (a+5). Jgoanbgo oo gmmbgwal

3960898 Mnbo 5  B3MmMdalb  asdmbomggmagmn  asdmbabymgds o

305350 G0gg0m.
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